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i) % ] % 36, 348, 386 27,129,187 9,219,199
*x IR £ 600, 000 3,709,600, A 3,109, 600
&= [E == 2,323,563 3,903,520 A 1,579,957
1= $h £ 287, 340 51,000 236, 340
REBEESE 39, 559, 289 34,793, 307 4,765, 982
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(1) BE&EE
B B # & 35 @ ZH E E 7, 800, 000 6, 000, 000 1, 800, 000
= X 8% k- R B L EE 12, 800, 000 11, 000, 000 1,800, 000
B ®m B OB B I B B 9, 715,000 4,715, 000 5, 000, 000
EREEERMEEEREAR B 1L & & 17,525, 000 17,525, 000 0
mEREENCFER BILEE 20, 100, 000 20, 100, 000 0
BEEESE 67, 940, 000 59, 340, 000 8, 600, 000
(2) TOMEEERE
= H % 4, 500, 000 4, 500, 000 0
ZTOMETEEESE 4,500, 000 4,500, 000 0
BEEEES 72, 440, 000 63, 840, 000 8, 600, 000
BEESEH 111,999, 289 98, 633, 307 13, 365, 982
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ES h il 0 1,080,000 A 1,080, 000
i) Y & 446, 999 79, 426 367,573
x #h H & L £ 1,513, 000 0 1,513,000
mEaEaE 1,959, 999 1,159, 426 800, 573
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B B O #8 1 51 & 2 7, 800, 000 6, 000, 000 1,800, 000
EE&EES 7,800, 000 6, 000, 000 1, 800, 000
aEaE 9,759, 999 7,159, 426 2,600, 573
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fEEERRBIEAE 0 0 0
2. —ARIERREAE 102, 239, 290 91,473, 881 10, 765, 409
(2 bHEE E ~OF % &) 60, 140, 000 53, 340, 000 6, 800, 000
IERKEIE &5 102, 239, 290 91,473, 881 10, 765, 409
BERVEKMES 111,999, 289 98, 633, 307 13, 365, 982




